(0 0 O 00O O )filename=probabilitycurrent-2-qa20190514.tex

00000000000000000D00(x)000000000000000000
0000000000 J(x)00000000000000

A

1)) = g 07052 = )] e (0200 re: DDO DY

1. 000000 ADDDOOOD 0000000000 ¢(z)=A4e*000000
000000000 J(y(z))0O00000

2. 000000 A,BOOOOOOA0000000000 ¢(z)=Ae ™ +Be™ 00
0000000000000 J(w(z)00ooooo

(x)
O h,v,|A],|B|,m,f00000000000000060000000000 (A=

|Aleis B =|Ble*) 000006 -0, 0000000

3. 00000000000 A BOOODOOODOD#OODOOODODODOOOODO J(W
(

Coo)
1. 0000
= J(¥(z)) = %[_A*ew X Aye 7" + Afye 7" x AeT ]
JW) = o )
2. 0000
dﬁ? = (=A™ 4 Be™),
H(z) = A*e® 4 BT %x@) =y(—A%e77" + B*e"),
= J(Y(z) = %%N¥€W+B%WX7FA€”+B&Q
—y(—=A*e™" + B*e’™) x (Ae™"" + Be'")]
— J(¢(r)) = %RMT—NB) @)
3. 0000
A = |Al", A" = |Ale ", B=|Blé", B*=|Ble ", ()

gobobouoooobboboooon

iny|Al| B
m

J(W(x) =

(610A6719B . 61936710,;)

1




_ iy |Al| B (e—ia_eie)
m
2hvy|Al|B
_ MlAlBLG g (6)
m

gooobod

gbogboobobbobuodbuooboboboboobbobbooboboobooo
O0O00bO,evanescent wavel U U D UOUODDODOO0ODOOO0DOOOO0OOO0OOO0O
gobobboogobobooooobobbbooodoobbuooobobobboooobo
gboboboodgobbobuooobbbooobbboooono



